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The Math Age: An Historical Perspective

When we were given this year’s math fair theme, we felt that there
were an infinite number of possibilities of historical contributions towards
mathematics that we could use in our project. Since the participants
originated from diverse cultures, an object or concept that reflected them
personally was chosen. After extensive research, we found that each idea
made a unique contribution to math. From hundreds of choices, we
narrowed it down to the twenty-nine which had the greatest impact on the
development of mathematics.

Throughout the construction of our project, several formulas and
mathematical concepts helped us to achieve optimum perfection in our
display. For instance, the Pythagorean Theorem was utilized to ensure that
each angle of the display case and certain replications were perfect squares.
For depictions that were composed of plaster, liquid and dry measurements
were used. Furthermore, we used fractions when drilling into wood in order
to conjoin two pieces. In brief, numerical concepts played an integral role in
the construction of this presentation.

For the past two months, we have been working diligently to

accurately replicate original items that were of great importance to



mathematics. In the earlier phases of our project, we decided to create a
display case that would properly exhibit the replicas in chronological order.
It took several days to construct particularly difficult models, for they were
of more intricate detail. This project has helped us to become aware that we
often unconsciously use mathematical concepts on a daily basis. It is

obvious that mathematics is critical to our everyday living!
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MESOPOTAMIAN CLAY TOKENS

TOKENS ARE SMALL GEOMETRIC CLAY OBJECTS FOUND ALL
OVER THE NEAR EAST FROM ABOUT 8000 B.C. UNTIL THE
DEVELOPMENT OF WRITING. TOKENS ARE FIRST IDENTIFIED AT
AROUND THE SAME TIME AS THE LOCAL PEOPLES CHANGED
FROM A LIFE BASED ON HUNTING AND GATHERING TO ONE BASED
ON AGRICULTURE.

THE EARLIEST TOKENS WERE SIMPLE SHAPES AND THEY
STOOD FOR BASIC AGRICULTURAL COMMODITIES SUCH AS GRAIN
AND SHEEP. A SPECIFIC SHAPE OF TOKEN ALWAYS REPRESENTED
A SPECIFIC QUANTITY OF A PARTICULAR ITEM. FOR EXAMPLE, THE
CONE STOOD FOR A SMALL MEASURE OF GRAIN, THE SPHERE
REPRESENTED A LARGE MEASURE OF GRAIN, THE OVOID STOOD
FOR A JAR OF OIL.

THE STANDARDIZATION OF THE TOKENS MEANT THAT THEY
HAD GREAT POWER FOR RECORD-KEEPING AND CONTRACTS IN A
WAY THAT COUNTING USING PEBBLES OR TWIGS WOULD NOT DO.
A COLLECTION OF TOKENS COULD REPRESENT A FUTURE
PROMISED TRANSACTION OR BE KEPT IN AN ARCHIVE AS A
RECORD OF A PAST TRANSACTION. THE MESOPOTAMIANS
DEVISED TWO MAIN SYSTEMS OF STORAGE. ONE SYSTEM
INVOLVED PIERCING THE TOKENS WITH SMALL HOLES, STRINGING
THEM ON A PIECE OF CORD AND ATTACHING THE ENDS OF THE
STRING TO A SOLID LUMP OF CLAY, CALLED A BULLA. ANY
ATTEMPT TO ALTER THE NUMBER OR TYPE OF TOKENS WOULD
INVOLVE BREAKING THE SEALS.



STONEHENGE

CURRENTLY THE STONEHENGE IS LOCATED IN
SOUTHWESTERN ENGILAND. AN EARTH WALL OF NINETY-EIGHT
METERS IN DIAMETER SURROUNDS THIS CIRCULAR MONUMENT.
THIRTY BLOCKS OF GRAY SANDSTONE, EACH STANDING FOUR
METERS ABOVE THE GROUND AND AVERAGING TWENTY-FIVE
METRIC TONS, STOOD IN A CIRCLE ABOUT THIRTY METERS IN
DIAMETER. TODAY ARCHAEOLOGISTS BELIEVE THIS MASSIVE
MONUMENT WAS USED FOR RELIGIOUS PURPOSES. HOWEVER,
ARCHITECTS WORLDWIDE ARE STILL. AMAZED AT THE QUALITY OF
THIS MAGNIFICENT STRUCTURE.

YET, TODAY PEOPLE HAVE NOTICED THAT THIS MONUMENT
COULD ALSO HAVE BEEN USED AS A CALENDAR OF CELESTIAL
EVENTS. IT DEMONSTRATED BOTH THE SUMMER AND WINTER
SOLSTICES. IN OTHER WORDS THE STONEHENGE COULD HAVE
BEEN USED AS AN EARLY FORM OF A CALENDAR. OVER THE
YEARS, MATHEMATICIANS HAVE RELATED TO THIS STRUCTURE AS
A WAY TO GATHER INFORMATION FROM PAST. SUCH
INFORMATION RANGES FROM THE DIMENSIONS OF THE STONE TO
HOW THE ANCIENT PEOPLE KNEW HOW TO DRAW PERFECT
CIRCLES.



Stonehenge
The Stonehenge was arranged ia a circular pattern. The circle was
exactly 360°. They used the formula C=2(pi)r. Th earthen wall around the
stone structures were 98 meters diameter.
C=2(3.14)49
C=6.28(49)
C=307.72 meters
The circumference of the earth wall around the actual Stonehenge is
307.72 meters. Today it is very common that we use the circumference of a
circle in our everyday life. For instance, perhaps you want to fit marbles
inside a cylinder that is 13 centimeters high and has a raduis of 3
centimeters. The marble has a raduis of 2 centimeters. How many marbles
are able to fit into the cylinder. In this case only 3 marbles fit into a cylinder
that has a radius of 3 centimeters and a height of 13 centimeters.

Height of cylinder=13 centimeters.
13 divided by 4, the actual diameter of the marble = 3 marbles vertically
Diameter of cylinder is 6 Divided by 4=1 marble horizontally

*As a result only 3 marbles will fit inside the cylinder provided.



THE GREAT PYRAMIDS OF GIZA

THE GREAT PYRAMIDS OF GIZA ARE PERHAPS THE BEST
PRESERVED PYRAMIDS THROUGHOUT ALL OF EGYPT. ACCORDING
TO ARCHAEOLOGISTS THE EARLY PEOPLE WHO CONSTRUCTED
THESE MAGNIFICENT STRUCTURES USED THE GOLDEN RATIO AS A
BASIS. THE GOLDEN RATIO EQUATION IS 1 + SQRT{5} /2. THIS
FORMULA WAS ALSO USED IN THE BUILDING OF THE
PARTHANEON. THE GREAT PYRAMID KNUFU STANDS ONE
HUNDRED FORTY METERS HIGH. IT'S BASE COVERS FIVE
HECTARES. THE OTHER TWO PYRAMIDS AT GIZA WERE BUILT FOR
KINGS KHAFRE AND MANKAURE.

TODAY THE MATH WORLD IS STILL MARVELED BY THESE
MONUMENTS. HOW DID THESE EARLY PEOPLE KNOW TO USE THE
GOLDEN RATIO IF THEY DIDN’T EVEN ATTEND SCHOOL?
PERHAPS, THESE PEOPLE BELIEVED THAT THEIR GODS WOULD
HELP THEM IN THE AFTER-LIFE. YET, WHATEVER IT WASIT IS
PROVEN THAT THESE PEOPLE’'S KNOWLEDGE OF MATH WAS
UNBELIEVABLE. THIS IS BECAUSE, OVER THE YEARS THE
PYRAMIDS STILL STAND AS RESULT OF CALCULATIONS SOLVED
CORRECTLY.



The Great Pyramids of Giza

The Great Pyramids of Giza were constructed based on the Golden ratio.
The formula is 1+sq. rt.(5)/2. Archaeologists believe that the dimensions of the
Great Pyramid’s base which cover about five hectares and stand at approximately
147 meters apply to the Golden Ratio. Today some architects may use the Golden
ratio as the Comparisons of either sides of the base. In other words following the
examples of the early people today architects are able to design their projects with
more accuracy.

For instance, if you have a length of 225 centimeters. Youwwould first add
1+ the sq.rt of 225. You would arrive at the answer of 16. This is because the sq.
rt. of 225 is 15. 1+15 =16. Afterward you would divide your sum of 16 by 2
arriving at the answer of 8. Today the Golden Ratio can even help us students
draw perfect models of the Pyramids of Giza.



MAGIC SQUARES

by Linda Braatz-Brown

THE FIRST MAGIC SQAURE WAS FOUND IN CHINA IN THE YU
DYNASTY IN 2000 B.C. THE EMPEROR YU THE GREAT WAS
SHOWED WITH THE SQAURE BY TWO MAGICAL ANIMALS: A
DRAGON-HORSE, AND A GIANT TORTOISE. THE LO SHU WHICH
WAS THE MAGIC SQUARE FOUND ON THE BACK OF THE TORTOISE
WAS RECORDED IN THE FKING, WHICH WAS ONE OF THE OLDEST
MATHEMATICAL WORKS.

IN THE MAGIC SQUARE, THE SUMS OF THE ROWS, COLUMNS,
AND DIAGONALS WAS 15. IN THE 13™ CENTURY, A CHINESE
MATHEMATICIAN YAN HUI STUDIED THE MAGIC SQUARE. HE ALSO
CAME UP WITH SOME SIMPLE RULES FOR THE CONSTRUCTION OF
THE SQUARE. IT WAS NOT UNTIL THE EUROPEAN RENAISSANCE
THAT THE MAGIC SQUARES WERE FOUND TO BE PURELY
MATHEMATICAL.



MAGIC SQUARE

12 ] & 9

13 3 2 16

[N THIS MAGIC SQUARE, THE SUM IS 34. THE FOUR
CORNERS ADD UP TO 34. THE FOUR NUMBERS IN THE CENTER
ALSO ADD UP TO 34. THE 12 AND 8 IN THE FIRST COLUMN AND
THE © AND 5 IN THE LAST ONE ALSO ADD UP TO 34. THE FOUR
SQUARES IN THE CORNERS ADD UP TO 34. THE COLUMNS AND
ROWS ALSO HAVE THE SAME SUM. MOREOVER, THE DIAGONALS
ALSO ADD UP TO THE SAME SUM.

FOUR CORNERS:. 1+4+13+16= 34

CENTER. 6+7+10+11= 34

FIRST AND LAST COLUMNS: 12+8+9+5= 34

FOUR SQUARES: 1+ 15+ 12+6= 34, 8+ 10+ 13+3= 34,
14+4+7+9= 34, 11+5+2+16= 34

COLUMNS: 1+12+8+ 13= 34, 15+6+10+3= 34, 14+7+11+2
= 34, 4+9+5+16= 34

Rows: 1+15+14+4 = 34, 12+6+7+9=34,8+ 10+ 11+5= 34,
13+3+2+16= 34



BABYLONIAN CLAY TABLETS

IN ANCIENT TIMES WRITING WAS DONE ON PAPYRUS,
PARCHMENT AND CLAY TABLETS. THE BABYLONIANS WERE A
SEMITIC PEOPLE WHO INVADED MESOPOTAMIA DEFEATING THE
SUMERIANS AND BY ABOUT 1900 B.C. ESTABLISHING THEIR
CAPITAL AT BABYLON. WHILE STILL WET, THE CLAY HAD WEDGE-
SHAPED LETTERS CALLED CUNEIFORM IMPRINTED ON IT WITH A
STYLUS AND THEN WAS KILN FIRED OR SUN DRIED.

THE FIRST CLAY TABLETS CONSISTED OF QUADRATIC
FORMULAS. TO SOLVE A QUADRATIC FORMULA THEY ESSENTIALLY
USED THE STANDARD FORMULA. THEY CONSIDERED TWO TYPES OF
EQUATIONS: x> + bx = ¢ and x* - bx = ¢. IN THIS FORMULA B, C WERE
POSITIVE BUT NOT NECESSARILY INTEGERS. THE FORM THAT THEIR
SOLUTIONS TOOK WAS, x = [(5/2)* + c] - (b/2) and x = [(b/2)* + c] + (b/2).
IN EACH CASE, THERE IS THE POSITIVE ROOT FROM THE TWO ROOTS
OF THE QUADRATIC AND THE ONE THAT WILL MAKE SENSE IN
SOLVING “REAL” PROBLEMS. FOR INSTANCE, PROBLEMS LED THE
BABYLONIANS TO EQUATIONS OF THIS TYPE OFTEN CONCERNED
THE AREA OF A RECTANGLE.



Babylonian Clay Tablets

The Babylonians were the first people to record quadratic formulas on
clay tablets. An example for the importance of this mathematical concept is
for finding the windchill measures and how cold the temperature feels at
different wind speeds.

The windchill, ¢, at a given temperature in Farenheit is a reasonably
good quadratic function of the wind speed in miles per hour, s. For example,
at 0 degrees Fahrenheit, the function ¢ = 0.028s> - 2.52s + 2.7 models the
chill factor with wind speeds from 0 to 45 miles per hour. Use the quadratic
formula to find the wind speed for a windchill of —10 degrees.

1. Windchill =-10=¢ -10=0.028 s 2 - 2.52 s + 2.7

2. Add 10 to each side of the equation to put it in standard form. 0 = 0.028s -
2.52s # 12.7

3. Use the quadratic formula to solve, a = 0.028; 6 =-2.52; ¢ = 12.7. Round
to the nearest tenth.

—bE b —dac
2a

=

Only a wind speed of 5.4 miles per hour makes sense for this situation
because the value of s must be between 0 and 45 miles per hour.



RHIND PAYRUS
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THE RHIND PAPYRUS IS NAMED AFTER HENRY RHIND. THE
PAPYRUS IS ABOUT 6 METERS LONG AND 1/3 WIDE. IT WAS

WRITTEN IN ABOUT 1850 B.C.
THE PAPYRUS CONTAINED MATHEMATICAL AND GOEMETRIC

PROBLEMS ACCOMPANIED BY THEIR SOLUTIONS. THE PROBLEMS
MAINLY DEALT WITH BUSSINESS OR ADMINISTRATIVE PROBLEMS
OF THAT TIME. THE PAPYRUS, ALSO REFERRED TO AS THE AHMES
PAPYRUS, WAS USED MORE AS A HANDBOOK. THE RHIND
PAPYRUS CONTAINED APPROXIMATELY 85 PROBLEMS.



RHIND PAPYRUS

IN THE RHIND PAPYRUS, PROBLEM # 10 SAID A CIRCULAR
FIELD HAD A DIAMETER OF 9 KHET. WHAT IS THE AREA OF THE
FIELD? THIS CAN BE RELATED TO THE REAL WORLD BECAUSE
SUPPOSED YOU HAVE TO WATER A GRASS FIELD OF © METER IN
DIAMETER. YOU HAVE A SPRINKLE THAT WILL COVER AN AREA OF
64-METER SQUARE. WILL THAT BE ENOUGH TO WATER THE
GRASS FIELD?

IN THIS PROBLEM YOU USED THE FORMULA A = 3.14(R)~.
A = 3.14(R)-

A= 3.14(4.5)-
A= 3.14(20.259)
A = 63.585 METERS SQUARE
THE ANSWER IS YOUR SPRINKLE WILL COVER THE GRASS

FIELD.



MANCALA

MANCALA IS POSSIBLY THE OLDEST GAME IN THE WORLD. IT
IS KNOWN TO HAVE ORGINATED IN ANCIENT EGYPT. [T MAY
EASILY BE PLAYED WITH ANY MATERIAL. FOR INSTANCE,
AFRICANS PLAYED IT USING HOLLOWS SCOOPED INTO THE
EARTH AND PEBBLES. MANCALA IS SIMILAR TO CHESS YET IT IS
MORE COMPLEX. IT IS A MATHEMATICAL GAME THAT
INCORPARATES STRATEGY AND LOGIC TO BE VICTORIOUS.



Mancala

Mancala is a simple strategy game in which your goal is to obtain
more beads than your opponent. During each turn you take all the beads
from one of your bowls and move counterclockwise, dropping one bead
each time in each bowl except for your opponent’s score bowl.

If your last bead drops in your own score bowl, you get to move
again. However, if your last bead drops in your empty bowl, you are allowed
to pick up all the beads in your opponent’s bowl opposite.

This game is highly based on mental math and counting. For instance,
in the modern game of mancala, each bowl begins with containing four
beads. You will want to begin with a bowl that will help you to gather the
most beads in your scoring bowl as possible. Therefore, you would probably
choose the last bowl right next to your score bowl.

You begin with four marbles in the first hole. This means you will
have to count four consecutive holes before you reach the one in which your
last marble will be dropped. From there, you will pick up the five marbles in
that hole and continue counting till you find the next hole where your last
marble will be placed. It is obvious that Mancala is a game for thinkers who
can quickly add and subtract mentally. Only these people will be able to
triumph over their opponent.



EARLY WEIGHTS AND BALANCES

WEIGHING PLAYED AN IMPORTANT PART IN THE ANCIENT
EGYPTIAN'S LIFE. THE BALANCES EMPLOYED WERE ORIGINALLY
OF SIMPLE PATTERNS AND EXISTED BEFORE 3200 B.C. THEY
CONSISTED OF TWO COPPER AND SILVER PANS SUSPENDED BY
CORDS AT THE ENDS OF A CENTRALLY SUPPORTED HORIZONTAL
BEAM. IT MAIN PURPOSE WAS TO WEIGH METAL.

BY EGYPTIAN BELIEF, WHEN SOMEONE DIED HIS HEART
MUST HAVE WEIGHED IN THE PRESENCE OF OSIRIS, THE GREAT
GOD OF THE DEAD. THE WEIGHT OF WHICH EXACTLY BALANCE
THAT OF A FEATHER, THE MAN’S SOUL. WAS ASSUMED TO BE
REPRESENTED BY HIS HEART. |F IT DID SO, THE SOUL OF THE
DECEASED WAS TAKEN INTO THE COMPANY OF THE GODS.
HEIROGLYPHICS SHOW THIS CEREMONY, TOGETHER WITH
DETAILED DRAWINGS OF THE BALANCES INCORPORATED.

EGYPTIAN WEIGHTS WERE OF HARD STONE THAT WERE
CAREFULLY POLISHED AND MARKED. YET, IN SOME REMOTE
TIMES CAST BRONZE WEIGHTS WERE ALSO IN USE. SETS WERE
DESIGNED IN ANIMAL FORMS, TOGETHER WITH THE ACTUAL
BALANCE.



Early Weights and Balances

Weights and balances were and are still used today to measure the
quantity and mass of an object or objects. Weighing items can determine a
price value for that item or items of equal measure. Weights are used to
measure the mass of an object or person.



EGYPTIAN CALENDAR

THE ANCIENT EGYPTIAN CALENDAR WAS BASED UPON THE
MOON. HOWEVER, CERTAIN DIFFICULTIES AROSE. TO SOLVE THIS
PROBLEM, THE EYPTIANS INVENTED A SCHEMATIZED CIVIL YEAR
CONTAINING 365 DAYS. EACH YEAR WAS DIVIDED INTO THREE
SEASONS, CONSISITING OF FOUR MONTHS OF THIRTY DAYS EACH.
TO COMPLETE THE YEAR, 5 EXTRA DAYS WERE ADDED TO THE
END OF THE YEAR. THE LUNAR CALENDAR CONTINUED TO
REGULATE RELIGIOUS AFFAIRS AND EVERYDAY LIFE WHILE THE
CIVIL CALENDAR SERVED THE GOVERNMENT AND
ADMINISTRATION.

AS A GREAT CONTRIBUTUION TO MATHEMATICS, THE
EGYTIAN CALENDAR, AS WELL AS OTHERS, SERVED AS A BASIS
FOR LATER CALENDARS, INCLUDING OURS. THIS IS AN EXAMPLE
OF THE MATHEMATICAL SOPHISTICATION OF ANCIENT CULTURES.



Egyptian Zodiac Calendar

Egyptians of the time divided their calendar into three seasons. They
were Inundation, Emergence, and Harvest. Today however, our calendar is
broken up into four seasons: summer, winter, spring, and fall. The ancient
Egyptians used division to divide their seasons into 3 parts. Today, we use a
similar system to divide our calendar.



HOURGLASS
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MANY PEOPLE REFERRED THE HOURGLASS AS THE FIRST
MECHANICAL. CLOCK. ITS EARLIEST RECORD WAS 14™ CENTURY.
BACK THEN, THEY WERE A COMMON SIGHT IN EARLY FACTORIES.

TODAY, IT IS USED TO TIME A PHONE CALL, COOKING, MEDIATION,
AND MORE.



HOURGLASS

AN HOURGLASS MEASURED AN HOUR WORTH OF TIME. IN
DAILY LIFE, IT CAN BE USED TO TIME MANY THINGS. IN SCHOOL, IT
CAN BE USED TO TIME A TEST SUCH AS GEPA.



CHESS

THIS ANCIENT GAME, WHICH TANTALIZED THE GREATEST
MINDS FOR APPROXIMATELY 14 CENTURIES, ORIGINATED IN THE
INDUS VALLEY IN THE 6™ CENTURY A.D. ORIGINALLY, IT WAS
KNOWN AS CHATURANGA, MEANING “ARMY GAME.” THIS GAME
SPREAD LIKE WILDFIRE THROUGH VARIOUS COUNTRIES FROM THE
BYZANTINE TO THE MUSLIM WORLD . THE ARABS EXTENSIVELY
STUDIED, ANNAYLYZED, AND WROTE TREATIES ON THE GAME.
DURING THIS PROCESS THEY DEVELOPED THE ALGEBRAIC
NOTATION SYSTEM.

AT FIRST THE GAME WAS CONSIDERED ARISTOCRATIC.
HOWEVER, AS THE PUBLIC BEGAN TO PLAY CHESS, THE LEVEL OF
EXPERTISE IMPROVED. THEREFORE, TORNAMENTS AND MATCHES
WERE HELD. PROMINENT PLAYERS WOULD EVEN ESTABLISH
SCHOOLS FOR THE TEACHING OF THIS CLASSIC GAME.



Chess

As chess became a more popular game, chess notation evolved.
Simple chess notation was being used as early as the nineteenth century.
Players would write down all their moves. For example, “Then the black
king for his second draught brings forth his queen, and places her in the third
house, in front of his bishop's pawn." Imagine writing out a forty-move
game in this way!

Therefore, Philip Stamma introduced the shorthand notation that we
now call "algebraic" in his book of composed problems. Stamma’s system
was practically identical to the algebraic notation system used today with the
files of the board designated " a-h" and the ranks numbered "1-8."



THE PYTHAGOREN THEOREM

THE PYTHAGOREAN THEOREM WAS DEVELOPED BY
PYTHAGORAS. PYTHAGORAS WAS A MATHEMATICIAN, A TEACHER,
A PHILOSOPHER, A MYSTIC, BUT TO HIS FOLLOWERS, HE WAS A
GOD. THE THEOREM SHOWED THE BASIC TRUTH ABOUT THE WAY
OUR WORLD FIT TOGETHER.

MANY MATHMATICIANS THINK THE PYTHAGOREAN THEOREM
WAS THE MOST IMPORTANT ELEMENTARY MATHEMATICS THAT
WAS DEVELOPED. THE PYTHAGOREAN THEOREM SAID THAT IN A
RIGHT TRIANGLE, THE SQAURE OF THE HYPOTENUSE IS EQUAL TO
THE SUM OF THE SQUARES OF THE OTHER TWO SIDES. THE
FORMULA IS A2+ B2= C2.



THE PYTHAGOREAN THEOREM

THE PYTHAGOREAN THEOREM IS USED VERY FREQUENTLY BY
HOME BUILDERS, AND CAN BE USED IN EVERYDAY LIFE'S. THE
PYTHAGOREAN CAN BE USED TO DETERMINE THE LENGTH OF THE
HYPOTENUSE SIDE OF A TRIANGLE.

L.

)

|
How TO SOLVE: —J

IN ANY RIGHT TRIANGLE THE SQUARE OF THE LENGTH OF THE
HYPOTENUSE, WHICH IS SIDE C, SHOULD BE EQUAL TO THE SUM OF THE
SQUARES OF THE LENGTH OF THE LEGS.

IF SIDE A WAS 32 INCHES AND SIDE B WAS 42 INCHES, THEN SIDE C WOULD
HAVE TO BE 52 INCHES TO BE A SQUARE RIGHT TRIANGLE.

WE USED THE PYTHAGOREAN THEOREM IN OUR PROJECT. THE
SHELVES HEIGHT WAS 4 FT OR 48 INCHES, AND THE LENGTH WAS 71 3/a
INCHES. AFTER USING THE PYTHAGOREAN THEOREM WE DETERMINED THE
HYPOTENUSE SHOULD BE ABOUT 86 INCHES, WHICH IT WAS.

HEIGHT. 4 FEET = 48 INCHES
LENGTH: 71 3/a INCHES

Az+Bz=C?2

A82 + 71 3/42 =C?2
2304+5148.0625=86.32532942
C=86.32532942



FIBONACCI

LEONARDO PISANO IS BETTER KNOWN FOR HIS NICKNAME
FIBONACCI. HE WAS BORN IN ITALY AND EDUCATED IN NORTH
AFRICA. HE 1S REMEMBERED TODAY FOR THE TWO PRECEDING
NUMBERSA.?? THIS SEQUENCE APPEARED IN MANY DIFFERENT

AREAS OF MATHEMATICS AND SCIENCE.



FIBONACCI
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T 5 18 15 5 1
i & 15 26 15 6 1
4 772+735 35 21 7 1
i 228 56 70 56 28 8 1
i"0 36 84 126 126 84 36 9 1

The Fibonacci sequence is still used in the world of mathematics. As
shown above you must add these numbers in order to find the resulting
numbers.

The growth of this nautilus shell, like the growth of populations and
many other kinds of natural “growing,” are somehow governed by
mathematical properties exhibited in the Fibonacci sequence. And not just
the rate of growth, but the pattern of growth. Examine the crisscrossing
spiral seed pattern in the head of a sunflower, for instance, and you will
discover that the number of spirals in each direction are invariably two
consecutive Fibonacci numbers.

The Fibonacci sequence makes its appearance in other ways within
mathematics as well. For example, it appears as sums of oblique diagonals in
Pascal’s triangle.



CHINESE ABACUS
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THE FIRST ABACUS RECORDED WAS COMPLETED DURING
THE FOURTEENTH CENTURY. YET, UNTIL PRESENT-DAY THE
INVENTOR OF THE ABACUS STILL REMAINS UNKNOWN. THE
ABACUS’ MANDARIN NAME IS “SUAN PAN”, WHICH TRANSLATED
MEANS CALCULATING PLATE. THIS EARLY INVENTION ENABLED
PEOPLE SUCH AS SHOPKEEPERS TO ADD, SUBTRACT, MULTIPLY,
AS WELL AS DIVIDE. THIS INSTRUMENT ALSO WAS UTILIZED TO
SOLVE MORE DIFFICULT PROBLEMS SUCH AS FRACTIONS AND
EVEN SQUARE ROOTS.

THE EARLY MODEL IS SIMILAR TO TODAY’S VERSION. IT HAD
ELEVEN WOODEN POLES WITH FIVE BEADS PER POLE ON THE
BOTTOM HALF. IN THE UPPER LEVEL OF THE ABACUS THERE
WERE ALSO ELEVEN WOODEN POLES BUT ONLY HAD TWO BEADS
PER POLE. TODAY SOME OF THE ELDERS IN CHINA PREFER TO
USE THIS EARLY INVENTION INSTEAD OF VARIOUS MECHANICAL
INSTRUMENTS. THEY BELIEVE IT IS A VISUAL METHOD TO DISPLAY
MATHEMATICS.



Chinese Abacus

The Chinese abacus is still quite useful today. Some people use this early
instrument in place of a modern calculator. Still, the abacus like the calculator
will give you the correct answer. The only advantage the calculator has is that it
perhaps offers more possibilities rather than just fundamental math. Using an
abacus could be as simple as 1+1. Of course that the calculator will give you an
answer of two. Yet moving counting the beads such as one and then two will also
give you a similar answer. Another example could occur as you are shopping.
Suppose you originally brought $7.00 and you spent $3.00 on a sandwich, what
would your final outcome be? Well on a calculator you would simply press 7.00 -
3.00 and you will arrive at an answer of four. However using the abacus you
would first gather seven beads or marbles. From those seven marbles you would
subtract three also arriving at the answer of $4.00.



SUBTRACTION AND ADDITION SIGN

9

THE ADDITION AND SUBTRACTION SIGN FIRST APPEARED IN
THE JOHANN WIDMAN'’S LEIPZIG IN 1489. IT SEEMED THAT IT
WAS THE GERMANS WHO USED THE SIGNS. HOWEVER, IT WAS
NOT UNTIL FRANCIS VIETA THAT THESE SIGNS BECAME POPULAR.

THESE SIGNS WERE USED CONSTANTLY IN MATHEMATICAL
PROBLEMS. IN FACT, MATH PROBLEMS CANNOT BE WRITTEN
WITHOUT THESE TWO SIGNS. THESE SIGNS WERE VERY
IMPORTANT IN THE HISTORY OF MATHEMATICIS.



SUBTRACTION AND ADDITION SIGNS

ROMA BOUGHT 6 APPLES AND CARLA BOUGHT 9. HOW
MANY DO THEY HAVE ALL TOGETHER?

6+ 9= 15
TOGETHER, THEY WILL HAVE 15 APPLES.

ROMA HAVE 20 APPLES. SHE ATE 5 OF THEM. HOW MANY
DOES SHE HAVE LEFT FOR HER TO MAKE SOME PLATTER OF FRUIT

SALADS?

20-5=15
SHE WILL HAVE 15 APPLES LEFT.



AZTEC CALENDAR

DESPITE THE TIME PERIOD IN WHICH THEY ORIGINATED, THE
AZTECS WERE CAPABLE OF PRODUCING AN EXTREMELY
COMPLEX AND ACCURATE CALENDAR. THE HAAAB WAS THE CIVIL
CALENDAR OF THE AZTECS. IT CONSISTED OF 18 MONTHS WITH
20 DAYS EACH FOLLOWED BY AN ADDITIONAL 5 DAYS. THIS
CREATES A YEAR THAT CONTAINS 365 DAYS. THE MONTHS WERE
NAMED AS FOLLOWS.

1. POP 2. Uo 3.7ZIP AZOTZ

5. TZEC 6. XUL 7. YAXKIN 8. MoOL

9. CCHEN 10. YAX 11..ZAC 12. CEH

13. MAE 14. KANKIN 15. MUAN 16. PAX
17. KAYAB 18.CUMKU

THE DAYS OF THE MONTH WERE NUMBERED FROM O TO 19. THIS
USE OF THE O™ DAY IS UNIQUE TO THE AZTEC CALENDAR. IT
SHOWS EVIDENCE THAT THE AZTECS PROBABLY DISCOVERED
AND UTILIZED THE NUMBER ZERO BEFORE IT WAS DISCOVERED IN
EITHER EUROPE OR ASIA.

THIS EARLY CALENDAR REPRESENTS THE SOPHISTICATION
OF THE AZTEC CULTURE AND ITS INTRICACY IN THE WORLD OF
MATHEMATICS. IT WAS IMPORTANT BECAUSE IT HIGHLY
RESEMBLED THE CONTEMPORARY CALENDAR USED TODAY.



Aztec Calendar

The Aztec Calendar shows evidence that the culture was probably the
first to discover 0. However, they use it to count the first day of every
month. Today, zero is used as a placeholder.

Hundreds Tens Ones
2 0 1

The number above is read two hundred and one. If the zero were not
there, the number would read two hundred one. Obviously this is unethical
because you are excluding the tens column. Due to this evidence, there was
probably much confusion in counting before the invention of zero.



EQUALITY SIGN

BEFORE THE EQUALITY SIGN WAS INVENTED, EQUALITY WAS
USUALLY SAID IN WORDS SUCH AS AEQUALES, AEQANTUR,
ESGALE, FACIUNT, OR GLEICH. THE SYMBOL = WAS FIRST USED
BY ROBERT RECORDE IN 1557 IN THE BOOK THE WHETSTONE
OF WITTE. HE WROTE, “l WILL SET AS | DO OFTEN IN WORK USE, A
PAIR OF PARALLEL, OR LINES OF ONE LENGTH. THUS, THE = WAS
INVENTED, BECAUSE NO TWO THINGS CAN BE MORE EQUAL..” THE
EQUALITY SIGN DID NOT APPEAR IN PRINT AGAIN UNTIL 161 8.1T
WAS PRINTED IN AN ANONYMOUS APPENDIX. HOWEVER, IT
REAPPEARED IN 16831 BY THOMAS HARRIOT, AND WILLIAM
OUGHTRED.

THE EQUALITY SIGN WAS IMPORTANT IN THE HISTORY OF
MATHEMATICIS BECAUSE EVERY EQUATION IN MATH, REQUIRES
AN EQUAL SIGN. THE INVENTION MADE THE PROCESS OF WRITING
AN EQUATION FASTER AND EASIER.



EQUALITY SIGN
EVERY EQUATION IN MATH REQUIRES AN EQUAL. SIGN.
A MOTHER ELEPHANT AND A BABY ELEPHANT WERE BOTH
WEIGHED. THE MOTHER WAS WEIGHED SEPARATELY, BUT THE

BABY ELEPHANT WAS NOT WEIGHED SEPARATELY. HOW MUCH
DOES THE BABY ELEPHANT WEIGH?

TOTAL = MOTHER'S = BABY'S

WEIGHT  WEIGHT WEIGHT
5396 = 5033 = W
W =363

HOw TO SOLVE.
SUBTRACT THE MOTHER’S WEIGHT, FROM THE TOTAL

WEIGHT.

5396 - 5033= 363

WE USED THE EQUALITY SIGN IN OUR PROJECT WHEN WE
WERE DETERMINING THE SPACE BETWEEN EACH SHELF. WE HAD
A CERTAIN AMOUNT OF SPACE TO WORK WITH, AND WE HAD TO
DETERMINE THE AMOUNT OF SPACE BETWEEN EACH SHELF
INCLUDING THE AMOUNT THE SHELF TOOK UP.



GREATER THAN AND LESS THAN SIGN

IN 1631, THE SIGNS < AND > APPEARED IN ARTIS
ANALYTICAE PRAXIS AD AEQUATIONS ALGEBRAICAS
RESOLVENDAS BY THOMAS HARRIOT. WHILE HARRIOT WAS IN
NORTH AMERICA, HE SAW A NATIVE AMERICAN WITH A SYMBOL
THAT LOOKED LIKE TWO X'S ON TOP OF EACH OTHER. IT WAS
VERY LIKELY THAT HE THOUGHT OF THE GREATER THAN AND LESS
THAN FROM THIS SYMBOL.

THESE SIGNS WERE IMPORTANT IN MATHEMATICS, BECAUSE
IN AN INEQUALITY EQUATION, WE NEED THESE SIGNS TO
REPRESENT GREATER THAN OR LESS THAN TO AVOID
CONFUSION.



INEQUALITY SIGN
SOLVE THE EQUATIONS USING THE SIGNS <, >, <, 2
1.7 9
2.8/4___2
3.18__ 3
4.32+11_____ 42
ANSWERS
-

B



INFINITY SIGN

JOHN WALLIS'S GREATEST WORK WAS THE INVENTION OF
THE INFINITY SIGN. IT WAS FIRST PUBLISHED IN 1655 IN THE
ARITHEMETICA INFINITORUM. THIS INVENTION SAID THAT
NUMBERS ARE INFINTE, MEANING IT CAN GO ON FOREVER.

THIS INVENTION GREATLY CONTRIBUTED TO MATHEMATICS.
YET, THE INFINITY SIGN HAD GIVEN MATHEMATICIANS PROBLEMS
SINCE THE TIME OF ANCIENT GREEK. FOR EXAMPLE, ZENO OF
ELEA ASKED WHETHER NUMBERS ARE INFINITELY DIVISIBLE OR IS
IT MADE UP OF SMALL INDIVISIBLE PARTS, IN THE 5™ CENTURY
B.C. THIS SYMBOL. HAD GIVEN THE ANSWER TO THIS QUESTION.



INFINITY SIGN

AN EVERYDAY EXAMPLE OF AN INFINITY PROBLEM THAT WE
USED IS THE PI SIGN. THE PI SIGN CAN GO ON FOREVER. IT
CANNOT BE TERMINATED.



DIVISION SIGN

IN THE 17T CENTURY, THE ANGLO-AMERICAN USED THE
DIVISION SIGN TO DO THE SUBTRACTION. IT WAS USED BY
JOHANN HEINRICH RAHN WHO WAS A SWISS MATHEMATICIAN IN
1659. THERE WAS A STRONG POSSIBLITY THAT THE SIGN WAS
USED BY ITALIAN ALGEBRISTS AS A SUBTRACTION SIGN IN 1684.
HOWEVER, IT WAS DR. JOHN PELL OF ENGLAND THAT MADE THE
SIGN KNOWN THROUGHTOUT THE WORLD IN 1688.

THE DIVISION SIGN IS IMPORTANT TO MATHEMATICS ,
BECAUSE WITHOUT IT WE CAN NOT DIVIDE. FURTHERMORE, IT
HELPS AVOID CONFUSION WHEN DIVIDING WITH LARGER
NUMBERS.



DIVISION SIGN

JOHN, TONY, AND Rul HAD 300 MARBLES. THEY WANTED
TO SPLIT UP THE MARBLES INTO 3 EQUAL PARTS. AFTER THEY
DIVIDED THEY EACH WERE ABLE TO KEEP 100 MARBLES. IN
ORDER TO FIND OUT THE AMOUNT OF MARBLES THE THREE OF
THEM KEPT, WAS JUST DIVIDING 300 BY 3. THEY DIVIDE BY 3
BECAUSE THERE ARE 3 BOYS.

100
3/ 300

THIS IS FOUND OUT BY DIVIDING 300 BY 3, WHICH EQUALS
100.

THERE IS ANOTHER WAY TO SOLVE THIS. IT USES THE SAME
CONCEPT EXCEPT THE DIVISION SYMBOL IS DIFFERENT.

300 & 3= 100



MERCURY THERMOMETER

THE FIRST MERCURY THERMOMETER WAS INVENTED IN
1714 A.D. IN DANZIG BY GABRIEL FARENHEIT. IT INITIATED THE
USE OF MERCURY AS A HEAT-MEASURING MEDIUM. THE
THERMOMETER IS A SMALL TUBULAR INSTRUMENT OF THICK
GLASS. WHEN HEAT IS APPLIED, THE MERCURY EXPANDS AND
RISES FROM THE CHAMBER PAST A NARROWED POINT AND UP
THE CYLINDRICAL TUBE. TEMPERATURE IS EITHER MEASURED IN
A FAHRENHEIT OR CELSIUS SCALE.



Mercury Thermometer

Daniel Gabriel Fahrenheit invented the mercury thermometer and
introduced the Fahrenheit scale that bears his name. The mercury
thermometer involves mathematics because it is measured in the Celsius and
Fahrenheit scale. The Celsius scale is also referred to as the centigrade
scale. Centigrade means consisting of or divided into 100 degrees. Swedish
Astronomer, Anders Celsius, invented the Celsius scale. There are 100
degrees between the freezing point (0 C) and the boiling point.

The formula to convert Celsius to Fahrenheit is
F=""C+32.



METRIC SYSTEM

THE METRIC SYSTEM ORIGINATED IN FRANCE AND WAS
ADOPTED IN 1799 A. D. IT IS BASED ON A UNIT OF LENGTH
CALLED THE METER AND A UNIT OF MASS CALLED THE,
KILOGRAM.

FRACTIONS AND MULTIPLES OF THE METRIC UNITS ARE
RELATED TO EACH OTHER BY POWERS OF 10. THIS ALLOWS
CONVERSION FROM ONE UNIT TO A MULTIPLE OF IT SIMPLY BY
SHIFTING A DECIMAL POINT. THUS, AVOIDING THE LENGTHY
ARITHMETICAL OPERATIONS REQUIRED BY THE ENGLISH UNITS OF
MEASUREMENT. STANDARD PREFIXES HAVE BEEN ACCEPTED
FOR DESIGNATING MULTIPLES AND FRACTIONS OF THE METER,
GRAM, ARE, AND OTHER UNITS. THUS, 1,000 GRAMS ARE A
KILOGRAM AND 1./ 100 OF A METER IS A CENTIMETER.



Metric System

The metric system is a mathematical concept that we use today in
mostly every country in the world. We use the metric system for
measurements. We use the system for length, width, height, et cetera, mass
or weight, volume, and area. The meter is the base unit for length. The liter
is the base unit for volume. The gram is the base unit for mass.

Length:

e 1,000 millimeters = 1 meter
e 100 centimeters = 1 meter
1,000 meters = 1 kilometer

Mass (or weight):

1,000 milligrams = | gram

1,000 grams = 1 kilogram

1,000 kilograms = 1 metric ton
Volume:

1,000 milliliters = | liter
e 1,000 liters = 1 cubic meter

Area:

10,000 square meters = 1 hectare
e 100 hectares = 1 square kilometer

Prefixes:

micro- means 1/1,000,000
milli- means 1/1000
centi- means 1/100

kilo- means 1,000

mega- means 1,000,000

Symbols:

m for meter

mm for millimeter
cm for centimeter
km for kilometer

g for gram

mg for milligram
kg for kilogram

L for liter

mL for milliliter

m? for square meter
m’® for cubic meter
km? for square kilometer
t for metric ton

ha for hectare

e & ¢ &2 ¢ ®2 & @8 @& © © @ 0 @

Some special relationships:

o | milliliter = 1 cubic centimeter
o | milliliter of water has a mass of approximately | gram
e | liter of water has a mass of approximately 1 kilogram

@ | cubic meter of water has a mass of approximately 1 metric ton



ALEXANDER GRAHAM BELL
TELEPHONE

SUNDAY, JUNE 25, 1876, WAS THE DAY WHEN BELL
DEMONSTRATED HIS NEW INVENTION AT THE CENTENNIAL
EXHIBITION IN PHILADELPHIA. ALEXANDER GRAHAM BELL
INITIALLY DID NOT SET OUT TO INVENT THE TELEPHONE. AT
FIRST, HE WANTED TO DEVELOP A MULTIPLE TELEGRAPH. IN
TELEGRAPHY, A CURRENT IS INTERRUPTED IN THE PATTERN
KNOWN AS MORSE CODE. BELL HOPED TO CONVEY SEVERAL
MESSAGES SIMULTANEOUSLY, EACH AT A DIFFERENT PITCH. YET,
HE COULD NOT SEE A WAY TO MAKE-AND-BREAK THE CURRENT AT
THE PRECISE PITCH REQUIRED.

THE BREAKTHROUGH CAME ONE DAY IN JUNE 1875. BELL
ASKED THOMAS WATSON TO PLUCK A STEEL RECEIVER REED
WITH HIS FINGER TO MAKE SURE IT WAS NOT STUCK. WHEN
WATSON VIBRATED THE REED, THE RECEIVER IN BELL'S ROOM
ALSO VIBRATED, EVEN THOUGH THE CURRENT WAS TURNED OFF.
BELL REALIZED THAT THE VIBRATION HAD GENERATED AN
UNDULATING CURRENT, SOLELY ON THE STRENGTH OF A SLIGHT
MAGNETIC FIELD. THE TELEPHONE WAS BORN.



Alexander Graham Bell
Telephone

One of the most useful inventions was the telephone. Today, we use
Bell’s invention to communicate with others from vast distances. This is
important to mathematics because it uses vibrations to transmit sounds.



ALBERT EINSTEIN

ALBERT EINSTEIN WAS BORN ON MARCH 14, 1879, AT
ULM, WURTTEMBERG IN GERMANY. HE WAS EDUCATED IN THE
Swiss FEDERAL POLYTECHNIC SCHOOL IN ZURICH TO BE A
TEACHER IN PHYSICS AND MATHEMATICS. ALBERT WAS FAMOUS
FOR HIS GENERAL THEORY OF RELATIVITY IN 1915. ALBERT
EINSTEIN LECTURED ALL OVER THE WORLD AND WAS AWARED
FELLOWSHIPS OR MEMBERSHIPS OF SCIENTIFIC ACADEMIES. HE
ALSO RECEIVED A NUMBER OF AWARDS FOR THE RECOGNITION
OFHIS CONTRIBUTES TO MATHEMATICS AND SCIENCE. HIS
AWARDS INCLUDED THE COPLEY MEDAL OF THE ROYAL SOCIETY
OF LONDON IN 1925, AND THE FRANKLIN MEDAL OF THE
FRANKLIN INSTITUTE IN 1935. HE DIED ON APRIL 18, 1955 IN
PRINCETON, NEW JERSEY.



Albert Einstein

Einstein’s theory of relativity proposed that distance and time are not
absolute. The key idea of General Relativity called the Equivalence
Principle, is that gravity pulling in one direction is completely equivalent to
an acceleration in the opposite direction. For example, a car accelerating
forwards feels like sideways gravity pushing you back against your seat. An
elevator accelerating upwards feels just like gravity pushing you into the
floor.



THE PHANTOM TOLLBOOTH
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THE BOOK THE PHANTOM TOLLBOOTH WAS WRITTEN BY
NORTON JUSTER IN 1961 A.D. IT IS ABOUT A BOY NAMED MILO
AND HIS ADVENTURES IN THE “LANDS BEYOND.” THIS IS AN
UNORDINARY PLACE WHERE WORDS, NAMES, AND EXPRESSIONS
MEAN EXACTLY WHAT THEY SAY. FOR INSTANCE, MILO MEETS A
DOG NAMED, TOCK, WHO IS A WATCH DOG — PART WATCH AND
PART DOG. AS THE STORY GOES ON, MILO, TOCK, AND A LARGE
INSECT CALLED THE HUMBUG, DRIVE ALONG A ROAD TO THE
KINGDOM OF DIGITOPOLIS, WHICH IS RULED BY A PERSON
KNOWN AS THE MATHEMATICIAN. THIS BOOK TAKES READERS TO
A WHOLE NEW CURRICULUM OF CRITICAL THINKING
INCORPORATING MATHEMATICS AND LITERATURE.



The Phantom Tollbooth

In the kingdom of Digitopolis, Milo finds himself face to face with the
mathematician. This grand person shows Milo a complex problem using
simple mathematics.

4+9 — 2x16+1/3x6-67+8x2-3+26-1/34+3/7+2-5

Milo quickly solves this problem mentally. Later in the story, Milo is
shown two large numbers in size when he asked what is the largest number
in the world. This story encourages young children to attempt more complex
mathematics and see math in a whole new perspective.



CANON POCKETRONIC

THE CANON POCKETRONIC WAS THE FIRST HAND HELD
CALCULATOR. IT WAS MANUFACTURED IN JAPAN IN THE MID-
197 1. WHEN IT BECAME AVAILABLE, IT COSTED ABOUT $395.IT
WEIGHED ABOUT 1.8 POUNDS, AND WAS 4 INCHES WIDE, 8
INCHES LONG, AND 2 INCHES HIGH. IT WAS A FOUR FUNCTIONED
CALCULATOR WITH A CAPACITY OF 12 DECIMAL DIGITS.

TODAY, WE HAVE HAND HELD CALCULATORS EVERYWHERE.
THEY ARE EXTREMELY CONVENIENT AND ALLOW STUDENTS TO
SAVE LARGE AMOUNTS OF SPACE IN BOOKBAGS AND DESKS.



Canon Pocketronic

As the world today becomes more complex, simple machines such as
the calculator are needed to make life a bit easier. The Canon Pocketronic
was capable of performing simple calculations: multiplication, division,
addition, and subtraction. In addition, calculators today can graph equations
solve complex algebraic expressions, and you can even type on them.

1 + 1 = 2
2 X 2 = 4
3 / ) = 1
4 - 2 = 2

As shown above, simple number sentences can be answered in a few
seconds. On modernized calculators, graphing of complex equations can be
done in the same amount of time.



RUBIK’'S CUBE

IN 1974, ERNO RUBIK WAS GRANTED A PATEN
APPLICATION FOR HIS HIGHLY ADDICTIVE PROTOTYPE. THE
MODEL WAS OF A 3X3X3 CUBE, EACH FACE A DIFFERENT COLOR.
THIS SMALL WONDER WAS LATER NAMED THE RUBIK'S CUBE.
ERNO WAS A LECTURER IN THE DEPARTMENT OF INTERIOR
DESIGN AT THE ACADEMY OF APPLIED ARTS AND CRAFTS IN
BUDAPEST. AFTER SEVERAL MIND RACKING DISCOVERIES AND A
FEW MINOR INCIDENTS, ERNO PRESENTED A PROTOTYPE TO HIS
STUDENTS. INSTANTANEOUSLY, THEY BECAME DEVOURED BY THE
INTENSE COMPLEXITY OF THE CUBE. THE CREATOR WAS CAUGHT
COMPLETELY BY SURPRISE DUE TO THE EFFECT HIS SMALL GAME
HAD ON HIS STUDENTS. EVEN MORE SO WHEN THE TOY HIT
BUDAPEST TOYSHOP’S SHELVES TOWARDS THE END OF 1977.
THE TOY MADE ITS INTERNATIONAL DEBUT IN JANUARY OF 1 980.
THE FIRST RUBIK'S CUBES WERE EXPORTED FROM HUNGARY IN
MAY OF 1980.

ALTHOUGH DIMINUTIVE IN SIZE, THIS CUBE IS OF GREAT
IMPORTANCE TO THE WORLD OF THREE — DIMENSIONAL
GEOMETRY. IT IS A TOY THAT CHALLENGES THE EAGER MINDS OF
ALL PEOPLE. IT IS A GAME OF STRATEGY, LOGIC, AND JUST A BIT
OF LUCK.



Rubik’s Cube

The Rubik’s cube has always been a rather difficult puzzle to solve.
However, through the years expert players have developed ways in which to
solve the puzzle at any stage.

Experts advise that to begin to solve the cube, you should first pick a
color, preferably white because it tends to stand out from the others. The
first step is to from a cross on the top face of the cube. After you
unscrambled the pieces, a white cross should be formed on top of the cube.
Next, you must correctly position three of the “U” face pieces. Afterward,
you must correctly place three of the four edge pieces on the "middle" layer
of the cube. For these moves you will need to hold your cube so that the
white face is on the bottom. Then, simply solve the remaining edge pieces.
To learn how to solve the cube quickly, go to
http://jeays.net/rubiks.htm#sol2stepl.



APPLE 2 COMPUTER

THE APPLE 2 COMPUTER WAS FINALLY COMPLETED IN
1984. THIS NEW COMPUTER FEATURED SEVERAL
CHARACHTERISTICS THAT DISTINGUISHED THIS MODEL FROM
PREVIOUS INVENTIONS. FOR ONE THIS MODEL, ALLOWED FOR
PEOPLE TO EITHER CAPITALIZE THEIR LETTERS OR KEEP THEM
LOWERCASE. MOREOVER, UNLIKE PREVIOUS MODELS THIS NEW
COMPUTER CONTAINED A BUILT-IN MONITOR. AS WELL AS A
MONITOR THIS INVENTION ALSO FEATURED A KEYBOARD WITH
NUMBERS.

IN THE MATH WORLD THIS CREATION BECAME A SUCCESS.
IT WAS THE FIRST COMPUTER EVER PRODUCED THAT HAD
NUMBERS. BESIDES THE CALCULATIONS PUT INTO THE FINAL
PRODUCT WERE ALL INVOLVING MATH. AS A MATTER OF FACT,
THE INVENTORS USED OLD FORMULAS TO CALCULATE THE
DIMENSIONS AND THE MEMORY THIS COMPUTER COULD STORE.



Apple 2 Computer

The Apple 2 Computer used binary digits to operate its programs. Based on
the number ten, computers use a form of binary called hexadecimal.

1
10
11
100
101
110
111
1000

Above is a sequence of binary digits often used to operate modern
computers. They work on a command basis just like our body. Today new
computers are trying to improve by not using binary digits. however, most find it
more useful to operate their computers with binary digits.



EARTH LOSES WEIGHT

IN THE EARLY DAYS OF MARCH IN THE YEAR 2000
PHYSICISTS AT THE UNIVERSITY OF WASHINGTON DISCOVERED
THAT THE WEIGHT OF THE EARTH HAD BEEN CHANGED.THE NEW
WEIGHT CALCULATED BY THESES SCIENTISTS IS 5.972
SEXTILLION METRIC TONS. THIS IS APPROXIMATELY ONE TRILLION
METRIC TONS FOR EACH PERSON ON EARTH. ACCORDING TO
JENS GUNDLACH AND STEPHEN MERKOWITZ , THE FORMULA TO
CALCULATE THE WEIGHT OF THE EARTH IS APPROXIMATELY
6.673 X 101" M3 KG'! s2. THIS DISCOVERY IS OF GREAT
IMPORTANCE TO THE WORLD OF MATHEMATICS. THIS FORMULA
ENABLED SCIENTISTS TO ACCURATELY MEASURE THE WEIGHT OF

THE EARTH.



Earth Looses Weight

Daily thousands of people worldwide loose weight. Like them recently the
Earth has also lost weight. This discovery was made by physicists at The
University of Washington. According to them the formula to calculate the current

weight of the earth is 6.673*10"1 1M3Kg'1S‘2. Although this formula doesn’t
apply to our everyday mathematics it reminds us of growth and decrease. Also we
could have subtracted the previous weight of the earth from the current one
provided and have found the decrease. In mother words, imagine you weighed
140 lbs. After Thanksgiving you once again weighed yourself and now your scale
indicates you weigh 143 Ibs. Now what was the change in your weight?. Well to
solve this problem you would simply subtract 140 lbs. from 143 Ibs. and arrive
at the conclusion that you gained a total of 3 lbs. Therefore, the weight of the
earth shifting is quite the same as our weight changing over periods of time.
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